A L OB OB %
SH2EE HEEARFEREXMESEE TEROXIERETO) ERHEBE
=N g
IS
5 P fT AR T O A Af £ HH SH24E78298
¥ E ffitg 48,902,700 | L#I2H9%E 48,730,000
ESR@EED THFELEEED
110430 1000 % 44,457,000 | 1 7025 7 1000 % 44,300,000
B 2 x & AFLAE#% B AL B AR AL RIEZE(REZE)
(1105 D 100D {EHE) | (110D 100D {HIE) | (11043 D100D1EHE) [(1104> D 100D f#E)
1 |MRAESHFTEHME 44,300,000
2 | RNEZRHEAESH 44,455,000
3 |HHERI M+ 44,457,000
4  (PTABERBEASH 44,600,000
A L OB R %
=N g SH2EE ERMFISESE JYEREBM R ER3ETE
5 Bl AR T A A Af &£ HH S24E78298
¥ E ffitg 5,509,900 | L#I2H9%E 5,390,000
ESR@EED THFELLED
1105301000 % 5,009,000 11043 0> 1000 % 4,900,000
B 2 x & AFLAT#% B AL B AR AL RiEZE(REZE)
(110> D 100D i) | (11052 D 100D H4E) | (11053 D 100D1M4E) [(11053 D 100D %)
1 |BARES#ERLER 4,900,000
2 MRSt IRES 5,090,000
3 | M TEEEENER 5,100,000M
3 |ERESHmERES 5,100,000M
5 |BRStHEER 5,110,000
6 |BARSHXEHE 5,165,000
A L OB R %
=N g SHTEE K- TEHEEARAEHEI(TEEE SHIEBETIS
5 T A AR TH R )IHhA Af &£ HH S24E78298
¥ E fifitg 40,345,800 | L#2H9%E 39,600,000
ESR@EED THFELEEED
1105 D 100D (i 4& 36,678,000M 11053 D 100D (i #& 36,000,000
B 2 x & AFLAE#% B AL B AR AL RiEZE(REZE)
(110> D 100D i) | (110D 100D 1) | (11053 D 100D1M4E) [(11053 D 100D %)
1 |BFAERIEKRAESRT 36,000,000
2 | RNEZRBEAEH 36,400,000
3 |FIARESREASH 36,600,000
4 (X EutaTEAE 36,700,000




A L OB OB %
=N g SHI2EE BERAVTFHFURAEE BARBERISE
5 P AR O A Af £ HH S24E78298
¥ E ffitg 20,050,800 L#2H9%E 19,910,000
LR D ZHHFLEEEED
1109301000 % 18,228,000F3) 1 To45 010000 fids 18,100,000
B x =z % AFLAE#% B AL B R AFLmE RIEZE(REZE)
(110> D 100D i) | (11052 D 100D 1) | (11053 D 100D1M4E) [(11053 D 100D %)
1 |%XExarBEE 18,100,000
2 |FIARESRERASH 18,220,000
2 | RNEZRHEAESH 18,220,000
2 |HHERI M+ 18,220,000
A L OB R %
=N g HEBEAEFREXMTELEE HFMREENHIUEIETUIR)
5 BT A 4R 6 B A Af &£ HH S24E78298
¥ TE {f 4% 11,633,600 | L#13259%8 11,605,000
LR D ZHHFLEEEED
1105301000 % 10,576,000F3) 1 To45 10000 fids 10,550,000
B = =z % AFLAT#% B AL B R AFLmE RiEZE(REZE)
(110> D 100D i) | (11052 D 100D H4E) | (11053 D 100D1M4E) [(11053 D 100D %)
1 |BRESHEEER 10,550,000
2 | RNEZRHEAEH 10,610,000
2 |BATEEEEIER 10,610,000
4 |ARSUHERE 10,615,000
5 |HMHERIEMASH 10,630,000
6 |ARSHXEHE 10,700,000
7 | SRES 10,720,000
A L OB R %
FEX4H HEEREFEREXMEEE FMEEREKBEERFERIEIEGCIR)
5 BT A 4R 6 B A Af &£ HH S24E78298
¥ E ffit& 10,458,800 | L#)32#49%8 10,318,000
LR D ZHHFLEEEED
11043 O 100D i #& 9,508,000M | 4 7555 7 10000 % 9,380,000
B4 = =z % AFLAT#% B AL B R AFLmE RiEZE(REZE)
(110> D 100D i) | (1105 D 100D 1) | (11053 D 100D1M4E) [(11053 D 100D %)
1 | RAEEHRETE 9,380,000
2 | &waTEAE 9,600,000M
3 | MXESHKEEHITERR 9,700,000M




A H O O#H B =
=N g HEEAEBREXTEEE FMEERPKBERFEEISZUIR)
5 B P AR ThEE B A AfLEAA SF124E7H29H

¥F TE{H 4% 10,311,400 | L#)3259%8 10,230,000

LR D ZHHFLREED
1109301000 % 9,374,000/ | 1 {525 1000 4 9,300,000
Bz r = AFLIfHE B A LM% B R AFLmE RIEZE(REZE)

= (1105 D 100D {EHE) | (110D 100D {HIE) | (11043 D100D1EHE) [(1104> D 100D f#E)

1 |#%X&xarBEE 9,300,000M

2 |MAESHRKEEHRIELE 9,450,000

3 | MAXESHKEEHITERR 9,570,000M

A W O#H B =
FEX4H SH2EE ERHFBESE RXARNE ERNEIE
5 B FT AR iR I A3 A AfLEAA SF24E7H29H

¥ & flit& 2,965,600 | L#I2H%E 2,860,000

LR D ZHHFLREED
110 D100 & 2,696,000M | 4 555 7 10000 % 2,600,000
e x = % AFL{fFE B A LM% B R AFLmE RiEZE(REZE)

AL (1105 D 100D fE4E) | (1105 D 100D 1E#E) | (1105 D 100D @) | (1105 D 1000 E#E)

1 | ESHXEHE 2,700,000 2,600,000

2 |ERESHEBRES 2,850,000 2,685,000

3 |BERSHEREE 2,810,000M 2,690,000

4 |ARSHRITE 2,840,000M 2,695,000
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HE |BRStENE TR




